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N.B. .— (1) All questions are compulsory.

(11)  All questions carry equal marks.
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1. Multiple Choice Questions : 10
H@'&ﬁ'ﬁ WA
(1) Lord Cornwallis started ........ccccoeeeeeeeeeeeennn.... system.
(a) Mahalwari (b)  Ryotwari
(o Permanent Settlement (d) None of these
F’Iﬁ Wﬁgﬁ ................................... q@a % @Tfﬁ.
(a) WEER] (b)) aE
(0  HEEHN Ug5d () ARl AR
(11) Who started ‘Ryotwari’ system ?
(a) Lord Cornwallis (b))  Thomas Munro
(0 John Shore (d) Lord Wellesley
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‘e’ 9gd HIvit g® el ?
(a) TS HHATAH (b Mg "
(90 WM TMSK (d) e et

Which one of the following is the main reason for the decline of the

Small Scale Industries in India ?

(a) Imports things from England
(b)  Growth Prizes

(0 More benefits from Agriculture

(d) Increase of Taxes

ARATA oTe SSANTeA] Oard JHE kR0 v ?

(a) TESHYA A T (b) Teuadme @6

(0  ImYd Faifas T6 (d R &

Due to professionalisation of Agriculture :

(a)  Benefit for Farmers (b)  Benefit for Landholder
(o Benefit for British Govt. (d) Benefit for Businessman
A=Al SRR

(a) sk @y fHesren (b)  SHFRRAT ey e

(o Toafes smaen o9 fHeren (@) =ur=a oy THesren

Reports of Charles Wood were published in the year :

(a9 1850 (b) 1854

(0 1858 (d) 1860

A G ST e 7 wfag Sl

(a9 1850 (b) 1854

(0 1858 (d) 1860

Who started the ‘English Education’ in India ?

(a) Lord Bentinck (b)  Lord Wellesley

(0 Lord Hastings (d)  Lord Dalhousie
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(a) e dfn (b)) S qast

(o e T (d) @S serRm
When did England decide to make Business Investments in India ?
(a9 1772 (b) 1785

(0 1813 (d) 1858

STaed YRAM SATIRI T[qaveh HoarEl 0 shegl Baer 2
(a9 1772 (b) 1785

(0 1813 (d 1858

Who was related to ‘Doctrine of Lapse’ ?

(a) Lord Bentinck (b)  Lord Wellesley
(0 Lord Hastings (d)  Lord Dalhousie
‘TR Ere e GO Heaed o gk 2

(a) e §fen (b)) S deret

(0 e = () < S

What was the immediate reason behind the uprising of 1857 ?
(a)  Cartridge covered with fat (b)  Dissatisfaction of people

(0 Policy against British (d) None of these
1857 =1 I3[ dchleil RO hIUd ?

(a) =EgH HrSgy (b)  SdEl STHA
(o fofew fae & (@ AUk A&

Who was the writer of ‘1857’s Swatantra Samar’ ?

(a)  N.R. Phatak (b)  V.D. Sawarkar
(0 Jus. M.G. Ranade (d Mangal Pandey
‘1857 = W@ wR' @ uY woi fafeen ?

(a) X HIEh (b)) fazr e

(@ = "I Te (d T 8
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Theory

Explain the information of land revenue system in the British period. 10

ffeerepTelle STHIA Aegal dgdr= Hifed! % .
Or
(feram)
Write the information of educational policy in the British period.
forfeemeptel a0 &R0 T =K
Write the causes of Commercialisation of Agriculture. 10
AT SRR Rl foa.
Or
(feram)
Write the consequences of 1857 uprising.
1857 =41 3greme uRumd o,
Write short notes on (any two) : 10
§)) Permanent Settlement
(11) Lord Macauley
(7i  De-industrialisation
(iv  Mangal Pandey.
e fom fomr (FocE g9)
(1) HEIHYRT TG

(i) e TP
(i) 3T :SCANTThTul
(1v) A Te.
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